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%Z 133 %7 133
1 ¢ 300KVA 1 ¢ 300KVA
+f1}f—i
INST
200 900 x 2.0 5
X =52 (A
v 3% 6.6 150
f Ix f Ix
f I = 5,100 (A) 5/150 — 170 (A)
10MVA x 100 1
f 1 = X = 1,006 (A) 5/150 - 33.5 (A)
150.6 6.6
300KVA Tr%Z 4.0 (133%) W= 17.16 + 133 = 150.6




3 1CO1 D-AT2H

300KVA
200 300 x 2.0 5
X = 4.5 (A)
6.6 100
51R f
f Ix f Ix
f I = 5,100 (A) 5/100 - 255 (A)
10MVA x 100 1
f I = X = 1,006 (A) 5/100 - 50.3 (A)
150.6 6.6
300KVA Tr%Z 4.0 (133%) %Z= 17.16 + 133 = 150.6
CD-40K 40VA
10 VA , VA 6.3 VA
CT + VA
To= X = 8.52 8.52 x BA = 42.6 A
+ VA
2 No2 1CO1 D-AT2H
300KVA
150 300 x 1.5 5
= 6.6 (A)

51R f.
f Ix Ix
f I = 5,100 (A) 5/30 — 850 (A)
10MVA x 100 1
f. 1 = X = 686 (A 5/30 - 114 (A)
127.6 vV 3x 6.6
300KVA Tr%Z 3.3 (110%) %Z= 17.16 + 110 = 127.6
CD-40K 40VA
10 VA , VA 6.3 VA
CT + VA
vz X = 8.52 8.52 x BA = 42.6 A
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